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8-7. Mark’s scores on his first nine assignments were: 10, 10, 9, 9, 10, 8, 9, 10, and 8. 8-7 HW eTool (CPM). Help (Html5)⇔Help (Java)
. What are the median and range of his scores? 

a. What is his mean (average) score so far?

b. Mark did not do the tenth assignment, so he got a zero on it.  Zero is an outlier for these assignments.  What is his new mean? 

8-8. Set up a graph and plot four points that form the vertices (corners) of a rectangle.  Then write the coordinates of the four points and find the length of each pair of sides. 8-8 HW eTool (Desmos). Help (Html5)⇔Help (Java)
8-9. Rewrite each expression using the Distributive Property.  Help (Html5)⇔Help (Java)
     a.5x2 + 35x
b.8x(7 − 2x)

c.9x − 3x2
c. 4(x − 7)

8-10. Use each of the digits 2, 3, 5, and 8 once with any combination of +, −, ·, ÷, or ( ) to write an expression with a value of 104. Note that you can repeat operations, but not numbers.  Help (Html5)⇔Help (Java)
8-11. Copy and complete each of the generic rectangles below. Be sure to state the final product.  Help (Html5)⇔Help (Java)
a.[image: image2.png]



b.[image: image3.png]
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8-20. There are five students of different ages.  Their median age is 13 years.  Help (Html5)⇔Help (Java)[image: image64.jpg]



. What are two possibilities for the ages of the three oldest students? 

a. If each student is a different age, how many students must be younger than 13? 

b. In complete sentences, describe what a median is to another student in the class.  Pretend that the student was absent the day you learned about medians. 

8-21. Inspect each data set below and the statement made about it.  Each statement is false.  Without making any calculations, determine how you can explain or justify that the statement is false.  Help (Html5)⇔Help (Java)
a. “The set of 24, 25 26, and 28 has a mean of 30.”  

b. “15 is the median of this data set: 12, 14, 15, 13, and 16.”  

8-22. Use <, >, or  = to compare the number pairs below.  Help (Html5)⇔Help (Java)
a. 0.183 ____ 0.18

b.−13 ____ − 17

c.0.125 ____[image: image6.png]



c. −6 ____ −4

d. 72%____[image: image7.png]



e. −0.25____−0.05

8-23. Find the area of the shape below.  Show your steps.  Help (Html5)⇔Help (Java)
[image: image8.jpg][16m

10m 2125m




8-24. A school survey showed that 153 students owned π‑Pods, 53 students owned π‑Phones, 17 students owned both, and 246 students owned neither.  Help (Html5)⇔Help (Java)
a.What is the ratio of π‑Pod owners to π‑Phone owners?

b.What is the ratio of π‑Phone owners to those that have neither a π‑Phone nor a π‑Pod?   

c.What would be the best way to display this data?  Review Section 1.1 for the types of data displays you have learned about in this course. 

8-25. The weights of 19 hummingbirds are given below in ounces.  Create a histogram for the data and use it to justify whether the mean or the median is a better choice for a “typical” hummingbird’s weight and calculate it. 8-25 HW eTool (CPM). Help (Html5)⇔Help (Java)
11, 8, 10, 10, 10, 9, 4, 9, 7, 5, 11, 8, 9, 11, 10, 10, 10, 9, 10.

8-26.  Mrs. Sakata is correcting math tests.  Here are the scores for the first fourteen tests she has corrected: 62, 65, 93, 51, 55, 12, 79, 85, 55, 72, 78, 83, 91, and 76.  Which score does not seem to fit in this set of data?  How will the outlier score affect the mean and the median of the data?  Explain. 8-26 HW eTool (CPM). Help (Html5)⇔Help (Java)
8-27. Clyde has two broken ruler segments.  One shows from 2[image: image9.png]


 inches to 5 inches, and the other shows from 3[image: image10.png]


 inches to 5[image: image11.png]


 inches.  Which piece is longer?  How much longer is it?  Help (Html5)⇔Help (Java)
8-28. Rewrite each expression below using the Distributive Property.  Then evaluate each expression for x = 2 and y = 5.  Help (Html5)⇔Help (Java)
a.8x − 4

b.6y2 + 24y
c.7x(y − 2)

d.3(9 + y)

8-29. Solve each generic-rectangle puzzle.  Write your answer in the form (total length)(total width) = sum of individual area parts = total area.  Help (Html5)⇔Help (Java)
a.[image: image12.png]+7
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8-39. Assume that the histograms below represent the amount of time it took two different groups of 100 people to run a 5K race.  Assume that the mean of each histogram is the same.  Which group has a greater mean absolute deviation?  Why?  Help (Html5)⇔Help (Java)
· [image: image16.jpg]



8-40. Describe the shape of the distributions in problem 8-39 above using the vocabulary list in problem 8-35.  Help (Html5)⇔Help (Java)
· [image: image17.png]



8-41. Kayla had a 14-foot rope that she cut into three pieces.  Now two of the pieces are the same length, and the third piece is 2 feet long.  Help (Html5)⇔Help (Java)
. Copy Kayla’s diagram below onto your paper and write an equation that represents the situation.  Be sure to remember to define your variable.  

a. Solve your equation and find the length of each of the two equal pieces.  

8-42.  Complete a portions web for each of the following fractions.  Help (Html5)⇔Help (Java)
a.[image: image18.png]



b.[image: image19.png]



8-43. Solve and graph the following inequalities:  Help (Html5)⇔Help (Java)
a.  x − 9 < 17

b.  x + 12 ≤ 6

b. 10 ≥ 4 + x
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 8-51. ALDEN’S SODA

Alden created a box plot for the calories in 11 different brands of sodas as shown below.  Help (Html5)⇔Help (Java)
[image: image22.jpg]50
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. How do you think Alden collected the data for his box plot?[image: image65.jpg]



a. According to this graph, give as complete a description about the calories of the 11 brands of soda as you can? Consider the center, shape, spread, and outliers

8-52. Simplify each of the following expressions.  Help (Html5)⇔Help (Java)
[image: image66.jpg]


a.[image: image23.png]



b.3 · (8 − 5) + 6 + 2 · 7

b. 49 ÷ 7 · 5 + 4 · (3.13 + 2.12)

8-53. Maciel and Alejandro were trying to figure out the answer to 8.42 + 0.3.  Maciel thinks the answer is 8.72, but Alejandro got 8.45.  Who is correct?  Why?  What did the other person do wrong?  Help (Html5)⇔Help (Java)
8-54. Find the area of the shape below. All angles are right angles.  Help (Html5)⇔Help (Java)
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8-55. Use the Distributive Property to rewrite each expression below.  Then evaluate each expression for y = 3 and z = 4.  Help (Html5)⇔Help (Java)
a.2y2 − 5y
b. 3(8 − 2z)

c.  5z2 −15z
c. 4y + 6z
8-56. How do box plots help compare data?  Think about this question as you compare the data below that shows the ages of students at three schools.  Help (Html5)⇔Help (Java)
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a. Which school is a K-8 school?  How do you know?  Does that school have more students in grades K-2, 3-5, or 6-8?  Why?   

b. What does the box plot for School C tell you about 11-year-old students at that school?   

c. How many students attend School C? 

d. Make a conjecture about how the data for these plots was collected.   

e. What statements can you make about the students at School B based on its box plot?  Consider the center, shape, spread, and outliers. 

8-57. Complete the following division problems.  Help (Html5)⇔Help (Java)
a.[image: image26.png]



b.[image: image27.png]



c.[image: image28.png]m SA




8-58. What are the next three numbers in the pattern: 1, 3, 7, 13, 21, …? Describe the pattern in words.  Help (Html5)⇔Help (Java)
8-59. Write the prime factorization of each number listed below.  Then find the least common multiple and the greatest common factor of each pair of numbers.  Help (Html5)⇔Help (Java)
a.3 and 24  

b.7 and 9 

c. 15 and 12  

[image: image29.jpg]


8-60. This problem is a checkpoint for rewriting and evaluating algebraic expressions. It will be referred to as Checkpoint 8A.

In parts (a) through (d), use the Distributive Property to rewrite each expression.  In parts (e) and (f), evaluate each expression using x = [image: image30.png]


 and y = 3.  Help (Html5)⇔Help (Java)
a. 3(2x + x)

b. 2(x + 2y) + 3x
c. 5x + 10

d. 24 + 18y
d. 6y2
e. 4x + 5y
Check your answers by referring to the Checkpoint 8A materials.

If you needed help solving these problems correctly, then you need more practice.  Review the Checkpoint 8A materials and try the practice problems.  Also consider getting help outside of class time.  From this point on, you will be expected to do problems like this one quickly and easily.
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8-66. Jerome is keeping track of how many books he and his friends have read during the first 100 days of school.  The numbers of books are 12, 17, 10, 24, 18, 31, 17, 21, 20, 14, 30, 9, and 25.  Help Jerome present the data to his teacher. 8-66 HW eTool (CPM). Help (Html5)⇔Help (Java)
. How many pieces of data, or observations, does Jerome have?  

a. Make a stem-and-leaf plot of the data.

b. Jerome wants to present the data with a plot that makes it possible to calculate the mean and the median.  Can he do this with a stem-and-leaf plot?  He is not asking you to calculate them, but he wants you to tell him if it is possible and why. 

c. Use the stem-and-leaf plot to describe how the data is spread.  That is, is it spread out, or is it concentrated mostly in a narrow range? 

d. Would it be helpful for Jerome to create a dot plot to display and analyze the data from problem 8-66?  Why or why not?

8-67. Create a histogram of the data from problem 8-66.  What are the advantages and disadvantages of displaying the data using a histogram?  Help (Html5)⇔Help (Java)
 

8-68. Create a box plot of the data from problem 8-66.  What are the advantages and disadvantages of displaying the data using a box plot?  Help (Html5)⇔Help (Java)
 

8-69. Draw a figure that is made of rectangles and has a perimeter of 152 feet.  Then show how to find its area.  Help (Html5)⇔Help (Java)
8-70. Place the following fractions in order from least to greatest:  Help (Html5)⇔Help (Java)
[image: image33.png]
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8-74. Read each question below and decide if it is a statistical question.  If possible, reword the question so that it is a statistical question. Help (Html5)⇔Help (Java)
. How tall is the Empire State Building? 

a. How much milk do Americans drink each day? 

b. What is the price of an oil change in Seattle, Washington? 

c. What size shoe do you wear? 

8-75. Given the 2 sets of data below, without doing any calculation, which one has a smaller mean absolute deviation?  Why?  Help (Html5)⇔Help (Java)
Set 1:  1,  2,  3,  4,  5,  6,  7,  8,  9,  10        Set 2:  3,  3,  4,  4,  5,  5,  6,  6,  7,  7

8-76. Without using a calculator, find each quotient.  Help (Html5)⇔Help (Java)

 INCLUDEPICTURE "http://textbooks.cpm.org/images/cc1/chap08/CC1_NoCal.jpg" \* MERGEFORMATINET 

a.3.96 ÷ 3.6

b.[image: image37.png]



c.5.336 ÷ 0.58

8-77. The first four multiples of 5 are 5, 10, 15, and 20.  Help (Html5)⇔Help (Java)
a. What are the first six multiples of 10?  

b. What are the first six multiples of 8? 

c. What is the least common multiple of 10 and 8? 

d. What is the greatest common factor of 10 and 8? 

8-78. Solve and graph the following inequalities:  Help (Html5)⇔Help (Java)
A .x + 3 < 7

b. 1 ≥ −8 + x
c. x + 81 ≤ 160

8-79. Mr. Nowlin has a rectangular garden with an area of 47.25 square feet and a length of 10.5 feet.  Help (Html5)⇔Help (Java)
a. What is the width of the garden?

b. What is the garden’s perimeter?

8-80. Your friend, Jaime, is facing a deadline and needs your help.  His English teacher told his class to read a book called The Crimson A.  It has 242 pages, and Jaime has 24 days before he needs to be finished.  He needs to figure out the minimum number of pages he needs to read each night to finish the book in time.  Help (Html5)⇔Help (Java)
a. Write an inequality for Jaime’s situation.  Remember to define your variable. 

B .Solve the inequality that your wrote in part (a).  Tell Jaime how many pages he needs to read each day and graph the solution on a number line. 

8-81. Find the area and perimeter of the figure shown below.  All angles are right angles.  Show your work clearly.  Help (Html5)⇔Help (Java)
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8-82. Without a calculator, add the following decimals.  Help (Html5)⇔Help (Java)

 INCLUDEPICTURE "http://textbooks.cpm.org/images/cc1/chap08/CC1_NoCal.jpg" \* MERGEFORMATINET 

a. 1.2 + 3.04

b. 0.85 + 4.1

[image: image67.jpg]


8-83. Levi used the box plot below to say, “Half of the class walked more than 30 laps at the walk-a-thon.”  Levi also knows that his class has more than 20 students.  Help (Html5)⇔Help (Java)
[image: image40.jpg]



Do you agree with him?  Explain your reasoning.  If you do not agree with him, what statement could he say about those who walked more than 30 laps?

a. Levi wants to describe the portion of students who walked between 20 and 30 laps (the box).  What statement could he say? 

B .How could you alter a single data point and not change the graph?  How could you change one data value and only move the median to the right?  

c. Can you determine how many students are in Levi’s class?  Explain why or why not. 

[image: image41.png]8 . 3 .1 How can T write an equation?
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8-90. Solve each of the following equations. Show your work.  Help (Html5)⇔Help (Java)
. 5f = 15

a. [image: image43.png]



b. 1.6y = 9

c. [image: image44.png]wis




	Ice Cream Consumption (2007)

	Country
	Liters per person

	Australia
	18.0

	Canada
	8.7

	Chile
	5.6

	China
	1.9

	Denmark
	8.7

	Finland
	14.0

	Ireland
	9.0

	Italy
	9.2

	Japan
	0.01

	Malaysia
	2.0

	New Zealand
	22.5

	Sweden
	11.9

	United Kingdom
	6.0

	United States
	18.3


8-91. The ice cream consumption in several countries is given in the table at right. 8-91 HW eTool (CPM). Help (Html5)⇔Help (Java)
a. How many countries are represented?

b. Display the data in a histogram.  Make the bins 4 liters per person wide (0-4, 4-8, etc.).  

c. Describe the shape of the distribution. 

d. Why is it appropriate to calculate a mean for this data?  Calculate the mean. 

e. Measure the spread (variability) of the data by finding the mean absolute deviation. 

f. In complete sentences, completely describe the distribution of ice-cream consumption by discussing the center, shape, spread, and outliers. 

8-92. A square has an area of 81 square inches.  What is its perimeter?  Help (Html5)⇔Help (Java)
8-93. Calculate each of the following quotients.  Help (Html5)⇔Help (Java)
a.[image: image45.png]



b.9.82 ÷ 0.2

c.[image: image46.png]



8-94. Victor and Hugo were shooting baskets.  Hugo made 6 out of his 10 shots.  Victor made 10 out of his 15 shots.  Help (Html5)⇔Help (Java)
a.Write each boy’s shots as a ratio of shots made to shots missed. 

b.Who is the better shooter?  Show all of your work and explain your reasoning clearly. 

[image: image47.jpg]8 . 3 .2 Whatis the relationship?
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8-101. A train travels at an average rate of 40 miles per hour and travels for 110 miles.  Help (Html5)⇔Help (Java)
. Using what you know about distance, rate, and time, write an equation for this situation.  Be sure to define your variable. 

a. Use your equation to determine how long will it take the train to travel this far.  Be sure to show all of your work. 
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8-102. The graph represents this situation: Cara jogs every morning, and after 30 minutes, she has run 3.5 miles. Help (Html5)⇔Help (Java)
a.How is Cara’s speed represented on the graph? 

b.Write a rule for Cara’s distance if  t  represents the number of hours.  

b. If Cara continues to run at this rate, predict how far she will run in 4 hours.  

8-103. Rewrite each expression with an equivalent expression.  Then evaluate each expression for x = 3 and y = 1. Help (Html5)⇔Help (Java)
a. 3x(5y − 4)

b. 7y2 + 28y
c. (2x − 1) + (4x − 3)

8-104.  Find the area of the figure below.  All angles are right angles.  Show your work.  Help (Html5)⇔Help (Java)
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8-105. Copy the dot pattern below and draw Figures 0, 4, and 5.  Explain how you could know the number of dots in any figure if you knew the figure number.  Help (Html5)⇔Help (Java)
[image: image51.jpg]
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8-116. Mr. Benesh is in charge of facilities at Walt Clark Middle School.  He is organizing a project to paint all 36 classrooms during the school’s summer break.  He estimates that it will take one person five hours to paint each classroom.  Help (Html5)⇔Help (Java)

 INCLUDEPICTURE "http://textbooks.cpm.org/images/cc1/chap08/C1_8-116.png" \* MERGEFORMATINET 

. How many total hours would it take for one person to paint all of the classrooms? 

a. Mr. Benesh has a team of four workers he is planning to assign to the job.  Assuming they all paint at the same rate of five hours per classroom, how many hours would it take the team to do the painting? 

b. Mr. Benesh realized that he needs the painting to be finished in nine hours so that a different team can come in to wax the floors before school starts.  How many people will he need to assign to do the painting in order to do this? 

8-117. Convert the following data and write equivalent measurements.  Use the information in the Math Notes box to help you.  Help (Html5)⇔Help (Java)
a. How many inches are in 6 feet?

b. How many inches are in 5 feet, 2 inches?

c. How many minutes are in 7.5 hours?

c. How many hours are in 2 days?

d. How many days are in 3168 minutes?

8-118. If the area of this triangle is 100.75cm2, what is the height?  Help (Html5)⇔Help (Java)
[image: image55.png]13 cm




8-119. Evaluate each of the following expressions for x = 10. Leave your answers as fractions. Show your work.  Help (Html5)⇔Help (Java)
a.[image: image56.png]ol




b.[image: image57.png]Tx-41




c.[image: image58.png]x+x+2x+22




8-120. This problem is a checkpoint for division of fractions and decimals.  It will be referred to as Checkpoint 8B.

Without using a calculator, find the following quotients.  Help (Html5)⇔Help (Java)

 INCLUDEPICTURE "http://textbooks.cpm.org/images/cc1/common/no_calculator_icon.png" \* MERGEFORMATINET 

a.[image: image60.png]



b.[image: image61.png]



c.[image: image62.png]



d.[image: image63.png]



e.27.42 ÷ 1.2

e. 19.5 ÷ 0.025

Check your answers by referring to the Checkpoint 8B materials.  

If you needed help solving these problems correctly, then you need more practice.  Review the Checkpoint 8B materials and try the practice problems.  Also consider getting help outside of class time.  From this point on, you will be expected to do problems like this one quickly and easily. 
